
Bond Determination Form 
 
 
 
 
A. Backfill  
 1) Material moved less than 500 ft.: _____________ cubic yards X $1.25=   (1a)_________________ 
 
 2) Material moved more than 500 ft.: _____________ cubic yards X $1.90=(1b)_________________ 
 
B.  Topsoil replacement (as necessary for 3in. depth): ________acres X $4000.00=  (2)__________________ 
 
C. Topsoil spreading (use one of the two choices below) 
 
 1) Topsoil spread by cubic yard:   _____________ cubic yards X $1.50=      (3a)_________________ 
 
 2) Topsoil spread by the acre:     _____________ acres X $1300.00=            (3b)_________________ 
 
 
 
D. Revegetation of the site:               _____________ acres X $1450.00=                   (4)__________________ 
 
 
     Subtotal (Add lines 1 through 4):                      (5)__________________ 
 
 
E. Engineering, Reclamation Management, and Administration (20% of Line 5):      (6)__________________ 
 
 
F. Mobilization (2.5% of the total of lines 5 and 6 added together)      (7)__________________ 
 
 
     Bond Total (Add lines 5, 6 and 7):                    (8)__________________ 


